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Telugu, Marathi, Odia, Gujarati, Konkani, Manipuri, Assamese, Nepali,
Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in
the box provided in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and
English, the responsibility for any errors/mistakes in understanding the
questions will be yours only.

6. In case of any doubt or confusion in the question paper, the English Version
will prevail.
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gm‘mÝ¶ AZwXoe …

1. narjmWu àíZ-nÌ Ho$ nhbo n¥ð> na AnZm AZwH«$‘m§H$ Adí¶ {bI|&

2. H¥$n¶m àíZ-nÌ H$mo Om±M b| {H$ àíZ-nÌ Ho$ Hw$b n¥ð>m| VWm àíZm| H$s CVZr hr g§»¶m h¡ {OVZr àW‘ n¥ð> Ho$ g~go
D$na N>nr h¡& Bg ~mV H$s Om±M ^r H$a b| {H$ àíZ H«${‘H$ ê$n ‘| h¢&

3. CÎma-nwpñVH$m ‘| nhMmZ-{M• ~ZmZo AWdm {Z{X©ï> ñWmZm| Ho$ A{V[aº$ H$ht ̂ r AZwH«$‘m§H$ {bIZo na narjmWu H$mo
A¶mo½¶ R>ham¶m OmEJm&

4. AnZr CÎma-nwpñVH$m na àíZ-nÌ H$m H$moS> Z§0 69/MAY/4, goQ u {bI|&

5. (H$) n«íZ-nÌ Ho$db {hÝXr/A§J«oOr ‘| h¡& {’$a ^r, ¶{X Amn Mmh| Vmo ZrMo Xr JB© {H$gr EH$ ^mfm ‘| CÎma Xo
gH$Vo h¢ …

A§J«oOr, {hÝXr, CXÿ©, n§Om~r, ~§Jbm, V{‘b, ‘b¶mb‘, H$Þ‹S>, VobwJy, ‘amR>r, C{‹S>¶m, JwOamVr, H$m|H$Ur,
‘{Unwar, Ag{‘¶m, Zonmbr, H$í‘rar, g§ñH¥$V Am¡a {gÝYr&

H¥$n¶m CÎma-nwpñVH$m ‘| {XE JE ~m°³g ‘| {bI| {H$ Amn {H$g ^mfm ‘| CÎma {bI aho h¢&

(I) ¶{X Amn {hÝXr Ed§ A§J«oOr Ho$ A{V[aº$ {H$gr AÝ¶ ̂ mfm ‘| CÎma {bIVo h¢, Vmo àíZm| H$mo g‘PZo ‘| hmoZo dmbr
Ìw{Q>¶m|/Jb{V¶m| H$s {Oå‘oXmar Ho$db AmnH$s hmoJr&

6. àíZ-nÌ ‘| {H$gr ^r àH$ma Ho$ g§Xoh AWdm Xþ{dYm H$s pñW{V ‘| A§J«oOr AZwdmX hr ‘mÝ¶ hmoJm&
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POLITICAL SCIENCE

amOZr{V {dkmZ

(317)

Time : 3 Hours ] [ Maximum Marks : 100

g‘¶ … 3 KÊQ>o ] [ nyUmªH$ … 100

Note  : (i) This Question Paper consists of 54 questions in all.

(ii) All questions are compulsory.

(iii) Marks are given against each question.

(iv) Attempt all questions either from Optional Module–7A or Optional
Module–7B in all Sections.

(v) Section–A consists of

(a) Q. Nos. 1 to 20—Multiple Choice-type Questions (MCQs) carrying
1 mark each. Select and write the most appropriate option out of the
four options given in each of these questions.

(b) Q. Nos. 21 to 35—Objective-type Questions carrying 2 marks each
(with 2 sub-parts of 1 mark each). Attempt these questions as per
the instructions given for each of the questions.

(vi) Section–B consists of

(a) Q. Nos. 36 to 46—Very Short Answer-type Questions carrying
2 marks each to be answered in the range of 30 to 50 words.

(b) Q. Nos. 47 to 52—Short Answer-type Questions carrying 3 marks
each to be answered in the range of 50 to 80 words.

(c) Q. Nos. 53 and 54—Long Answer-type Questions carrying 5 marks
each to be answered in the range of 80 to 120 words.

{ZX}e … (i) Bg àíZ-nÌ ‘| Hw$b 54 àíZ h¢&

(ii) g^r àíZ A{Zdm¶© h¢&

(iii) àË¶oH$ àíZ Ho$ A§H$ Cg àíZ Ho$ gm‘Zo {XE JE h¢&

(iv) g^r IÊS>m| ‘| d¡H$pënH$ ‘m°S²>¶yb–7A AWdm d¡H$pënH$ ‘m°S>²¶yb–7B Ho$ g^r àíZm| Ho$ CÎma {b{IE&

(v) IÊS>–H$
(a) àíZ g§»¶m 1 go 20 VH$ ~hþ{dH$ënr¶ àíZ h¢& àË¶oH$ àíZ 1 A§H$ H$m h¡& BZ àíZm| ‘| {XE

JE Mma {dH$ënm| ‘| go g~go Cn¶wº$ {dH$ën H$mo MwZH$a CÎma Ho$ ê$n ‘| {b{IE&

(b) àíZ g§»¶m 21 go 35 VH$ 2 A§H$ dmbo dñVw{Zð> àH$ma Ho$ àíZ h¡§& Eogo àË¶oH$ àíZ
‘| 1 A§H$ Ho$ 2 Cn^mJ h¢& BZ àíZm| Ho$ CÎma {XE JE {ZX}emZwgma {b{IE&
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(vi) IÊS>–I
(a) àíZ g§»¶m 36 go 46 A{V bKyÎmar¶ àH$ma Ho$ àíZ h¢& àË¶oH$ àíZ 2 A§H$ H$m h¡ {OgH$m

CÎma 30 go 50 eãXm| ‘| {bIZm h¡&
(b) àíZ g§»¶m 47 go 52 bKyÎmar¶ àH$ma Ho$ àíZ h¢& àË¶oH$ àíZ 3 A§H$ H$m h¡ {OgH$m CÎma

50 go 80 eãXm| ‘| {bIZm h¡&
(c) àíZ g§»¶m 53 Am¡a 54 XrK©-CÎmar¶ àH$ma Ho$ àíZ h¢& àË¶oH$ àíZ 5> A§H$ H$m h¡ {OgH$m

CÎma 80 go 120 eãXm| ‘| {bIZm h¡&

SECTION–A

IÊS>–H$

1. Capitalist economy is closely associated with

(A) Marxism (B) Socialism

(C) Communism (D) Liberalism 1

ny±OrdmXr AW©ì¶dñWm {ZåZ{b{IV ‘| go {H$gHo$ gmW {ZH$Q>Vm go Ow‹S>r hþB© h¡?

(A) ‘m³g©dmX (B) g‘mOdmX

(C) gmå¶dmX (D) CXmadmX

2. ‘The theory of class struggle’ is a principle related to

(A) Liberalism (B) Marxism

(C) Gandhism (D) Capitalism 1

"dJ© g§Kf© H$m {gÕmÝV' {ZåZ{b{IV ‘| go {H$ggo gå~pÝYV h¡?

(A) CXmadmX (B) ‘m³g©dmX

(C) Jm±YrdmX (D) ny±OrdmX

(1) Answers of all questions are to be given in the Answer-Book given to you.

g^r àíZm| Ho$ CÎma AmnH$mo Xr JB© CÎma-nwpñVH$m ‘| hr {bI|&
(2) 15 minutes time has been allotted to read this question paper. The question

paper will be distributed at 2:15 p.m. From 2:15 p.m. to 2:30 p.m., the
students will read the question paper only and will not write any answer on
the Answer-Book during this period.

Bg àíZ-nÌ H$mo n‹T>Zo Ho$ {bE 15 {‘ZQ> H$m g‘¶ {X¶m J¶m h¡& àíZ-nÌ H$m {dVaU Xmonha ‘|
2:15 ~Oo {H$¶m OmEJm& Xmonha 2:15 ~Oo go 2:30 ~Oo VH$ N>mÌ Ho$db àíZ-nÌ H$mo n‹T>|Jo Am¡a
Bg Ad{Y Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo&
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3. Who among the following believed that ‘ends and means are the two sides
of the same coin’? 1

(A) Karl Marx (B) Laski

(C) Mahatma Gandhi (D) Machiavelli

{ZåZ{b{IV ‘| go {H$gH$m {dídmg Wm {H$ "gmÜ¶ Am¡a gmYZ EH$ hr {g¸o$ Ho$ Xmo nhby h¢'?

(A) H$mb© ‘m³g© (B) bmñH$s

(C) ‘hmË‘m Jm±Yr (D) ‘¡{H$¶mdobr

4. Which one of the following statements is not true about the Government? 1

(A) It is an element of State.

(B) It is responsible for making laws.

(C) It gets its powers from the Constitution.

(D) It is permanent.

{ZåZ{b{IV ‘| go H$m¡Z-gm H$WZ "gaH$ma' Ho$ ~mao ‘| JbV h¡?

(A) ¶h amÁ¶ H$m EH$ VÎd h¡&

(B) ¶h H$mZyZ ~ZmZo Ho$ {bE {µOå‘odma h¡&

(C) BgH$mo g§{dYmZ go e{º$¶m± àmá hmoVr h¢&

(D) ¶h ñWm¶r hmoVr h¡&

5. Which Fundamental Right has been removed from the list of Fundamental
Rights by the 44th Constitutional Amendment Act? 1

(A) Right to Education (B) Right to Property

(C) Right to Freedom (D) Right to Freedom of Religion

44d| g§{dYmZ g§emoYZ A{Y{Z¶‘ Ho$ Ûmam {H$g ‘m¡{bH$ A{YH$ma H$mo ‘m¡{bH$ A{YH$mam| H$s gyMr go
hQ>m {X¶m J¶m h¡?

(A) {ejm H$m A{YH$ma (B) gån{Îm H$m A{YH$ma

(C) ñdV§ÌVm H$m A{YH$ma (D) Ym{‘©H$ ñdV§ÌVm H$m A{YH$ma

6. How many freedoms have been guaranteed by the Indian Constitution
under the Right to Freedom? 1

(A) 5 (B) 6

(C) 7 (D) 8
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ñdV§ÌVm Ho$ A{YH$ma Ho$ AÝVJ©V ^maVr¶ g§{dYmZ Zo {H$VZr ñdV§ÌVmAm| H$s Jma§Q>r Xr h¡?

(A) 5 (B) 6

(C) 7 (D) 8

7. How many subjects are there in the ‘Concurrent List’ in the Constitution
of India for the division of powers? 1

(A) 97 (B) 47

(C) 66 (D) 75

^maVr¶ g§{dYmZ ‘| e{º$¶m| Ho$ {d^mOZ Ho$ {bE XO© "g‘dVu gyMr' ‘| {H$VZo {df¶m| H$mo em{‘b {H$¶m
J¶m h¡?

(A) 97 (B) 47

(C) 66 (D) 75

8. Who among the following presides over the sessions of the Rajya Sabha? 1

(A) The President (B) The Speaker

(C) The Vice President (D) The Leader of the House

amÁ¶g^m H$s ~¡R>H$m| H$s AÜ¶jVm {ZåZ{b{IV ‘| go H$m¡Z H$aVm h¡?

(A) amï>́n{V (B) ñnrH$a

(C) Cn-amï´>n{V (D) amÁ¶g^m H$m ZoVm

9. What can be the maximum number of members of the Lok Sabha? 1

(A) 540 (B) 543

(C) 545 (D) 550

bmoH$g^m Ho$ A{YH$V‘ {H$VZo gXñ¶ hmo gH$Vo h¢?

(A) 540 (B) 543

(C) 545 (D) 550

10. A money bill can be introduced in the Lok Sabha with the prior approval
of the

(A) Speaker (B) Prime Minister

(C) President (D) Vice President 1

bmoH$g^m ‘| {dÎm {dYo¶H$ H$mo {H$gH$s AZw‘{V àmá H$aZo Ho$ ~mX àñVwV {H$¶m Om gH$Vm h¡?

(A) ñnrH$a (B) àYmZ‘§Ìr

(C) amï>́n{V (D) Cn-amï´>n{V
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11. High Courts work under the superintendence, direction and control of the

(A) President (B) Governors

(C) Supreme Court (D) Law Minister 1

Cƒ Ý¶m¶mb¶ {ZåZ{b{IV ‘| go {H$gH$s/{H$ZH$s XoI-aoI, {ZX}e Am¡a {Z¶§ÌU ‘| H$m¶© H$aVo h¢?

(A) amï>́n{V (B) amÁ¶nmb

(C) gdm}ƒ Ý¶m¶mb¶ (D) H$mZyZ ‘§Ìr

12. An EVM (Electronic Voting Machine) can accommodate a maximum
number of how many candidates? 1

(A) 12 (B) 16

(C) 20 (D) 24

EH$ B©0dr0E‘0 (Bbo³Q´>m°{ZH$ dmoqQ>J ‘erZ) ‘| A{YH$V‘ {H$VZo Cå‘rXdmam| H$mo Xem©¶m Om gH$Vm h¡?

(A) 12 (B) 16

(C) 20 (D) 24

13. In India, which one political party won five general elections in a row? 1

(A) The Bharatiya Janata Party

(B) The Indian National Congress

(C) The National Conference

(D) The DMK

^maV ‘| H$m¡Z-go EH$ amOZr{VH$ Xb Zo bJmVma nm±M ~ma Am‘ MwZmdm| ‘| {dO¶ àmá H$s?

(A) ^maVr¶ OZVm nmQ>u (B) ^maVr¶ amï´>r¶ H$m±J«og

(C) ZoeZb H$m±’«|$g (D) S>r0E‘0Ho$0

14. Which of the following is a regional party of Haryana? 1

(A) The Telugu Desam

(B) The All Party Hill Leaders Conference

(C) The Shiv Sena

(D) The Indian National Lok Dal

Cg joÌr¶ Xb H$mo Mw{ZE Omo h[a¶mUm go gå~ÝY aIVm h¡&

(A) VobwJy Xoe‘ (B) Am°b nmQ>u {hb brS>g© H$m±’«|$g

(C) {ed goZm (D) B§{S>¶Z ZoeZb bmoH$ Xb
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15. Which one of the following is not a feature of good governance? 1

(A) People caring administration

(B) Corruption-free Government

(C) Absolute powers to administrators

(D) Justice to people

{ZåZ{b{IV ‘| go H$m¡Z-gr gwemgZ H$s EH$ {deofVm Zht h¡?

(A) OZ-{hV¡fr àemgZ (B) ^«ï>mMma-‘wº$ gaH$ma

(C) àemgH$m| H$mo Agr{‘V e{º$¶m± XoZm (D) bmoJm| H$mo Ý¶m¶ XoZm

16. In which year was the Universal Declaration of Human Rights adopted? 1

(A) 1945 (B) 1947

(C) 1948 (D) 1951

{ZåZ{b{IV ‘| go {H$g df© ‘mZdm{YH$ma H$m gmd©^m¡{‘H$ KmofUm-nÌ AnZm¶m J¶m?

(A) 1945 (B) 1947

(C) 1948 (D) 1951

17. ‘Sustainable Development’ is more about

(A) development (B) education

(C) agriculture (D) environment 1

"Adbå~Zr¶ {dH$mg' {ZåZ{b{IV ‘| go {H$gHo$ ~mao ‘| à¶moJ {H$¶m OmVm h¡?

(A) {dH$mg (B) {ejm

(C) H¥${f (D) n¶m©daU

18. How many National Parks for wildlife conservation are there in India? 1

(A) 130 (B) 95

(C) 80 (D) 75

dÝ¶Ord g§ajU Ho$ {bE ^maV ‘| {H$VZo amï´>r¶ nmH©$ h¢?

(A) 130 (B) 95

(C) 80 (D) 75
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Optional Module–7A

d¡H$pënH$ ‘m°S²>¶yb>–7A

19. Which one colony was a victim of apartheid? 1

(A) South Africa (B) China

(C) Myanmar (D) Sri Lanka

H$m¡Z-gm EH$ Cn{Zdoe a§J-^oX H$m {eH$ma Wm?

(A) X{jU A’«$sH$m (B) MrZ

(C) å¶m§‘ma (D) lrb§H$m

20. The armed forces of which country had crossed over to South Korea in
1950 and refused to go back? 1

(A) China (B) Russia

(C) North Korea (D) Japan

{H$g Xoe H$s geó goZm 1950 ‘| X{jU H$mo[a¶m ‘| Kwg JB© Wr Am¡a dmng OmZo go BÝH$ma H$a
{X¶m Wm?

(A) MrZ (B) ê$g

(C) CÎma H$mo[a¶m (D) OmnmZ

Optional Module–7B

d¡H$pënH$ ‘m°S²>¶yb>–7B

19. The President of India places the annual report of the UPSC before

(A) the Parliament (B) the Supreme Court of India

(C) the Planning Commission (D) the Governors of the States 1

^maV H$m amï´>n{V Ho$ÝÐr¶ bmoH$ godm Am¶moJ H$s dm{f©H$ [anmoQ>© {ZåZ{b{IV ‘| go {H$gHo$ g‘j àñVwV
H$aVm h¡?

(A) g§gX (B) ^maV H$m gdm}ƒ Ý¶m¶mb¶

(C) ¶moOZm Am¶moJ (D) amÁ¶m| Ho$ amÁ¶nmb

20. Which social scientist made a systematic study of bureaucracy? 1

(A) Mahatma Gandhi (B) Karl Marx

(C) Laski (D) Max Weber

H$m¡Z-go g‘mO {dkmZr Zo Zm¡H$aemhr H$m ì¶dpñWV AÜ¶¶Z {H$¶m Wm?

(A) ‘hmË‘m Jm±Yr (B) H$mb© ‘m³g©

(C) bmñH$s (D) ‘¡³g do~a
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From Q. Nos. 21 to 26, fill in the blanks to make the sentence meaningful and
correct :

àíZ g§»¶m 21 go 26 VH$, dm³¶ H$mo AW©nyU© Ed§ ghr ~ZmZo Ho$ {bE [aº$ ñWmZ ^[aE :

21. Gandhiji advocated _____ of powers as he considered it the spirit of _____.
1+1=2

Jm±YrOr Zo e{º$¶m| Ho$ _____ H$s dH$mbV H$s ³¶m|{H$ do BgH$mo _____ H$s ^mdZm ‘mZVo Wo&

22. The Directive Principles of State Policy seek to provide equal pay for equal
_____ both to men and _____. 1+1=2

amÁ¶ Ho$ Zr{V {ZXoeH$ {gÕmÝV g‘mZ _____ Ho$ {bE XmoZm| _____ Am¡a nwéf Ho$ {bE g‘mZ doVZ
H$m {ZX}e XoVo h¢&

23. In the _____ Constitution of India there were _____ Fundamental Rights.
1+1=2

^maV Ho$ _____ g§{dYmZ ‘| _____ ‘m¡{bH$ A{YH$ma Wo&

24. The President of India can be _____ from his office through a process called
_____. 1+1=2

^maV Ho$ amï´>n{V H$mo CgHo$ nX go _____ Ho$ Ûmam _____ {H$¶m Om gH$Vm h¡&

25. Every year the _____ is presented by the _____ Minister in the Lok Sabha.
1+1=2

àË¶oH$ df© _____ bmoH$g^m ‘| _____ ‘§Ìr Ûmam àñVwV {H$¶m OmVm h¡&

26. Good governance is concerned with the formulation of _____ to improve the
_____ of life of the people. 1+1=2

gwemgZ H$m gå~ÝY _____ ~ZmZo go h¡ {Oggo bmoJm| Ho$ OrdZ Ho$ _____ ‘| gwYma bm¶m Om gHo$&

27. Answer the following questions : 1+1=2

(a) In which city did the countries of Asia and Africa hold a Conference
in 1955?

(b) Name the agreement signed between India and China to adhere to the
five principles of bilateral relations.

{ZåZ{b{IV àíZm| Ho$ CÎma Xr{OE :

(H$) 1955 ‘| E{e¶m Am¡a A’«$sH$m Ho$ Xoem| Zo H$m¡Z-go eha ({gQ>r) ‘| gå‘obZ {H$¶m Wm?

(I) ^maV Am¡a MrZ Ho$ ~rM nmañn[aH$ gå~ÝYm| Ho$ nm±M {gÕmÝVm| H$m nmbZ H$aZo gå~ÝYr {H$E JE
g‘Pm¡Vo H$m Zm‘ {b{IE&
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28. Answer the following questions : 1+1=2

(a) Name any one country of the Third World.

(b) Which year is known for the end of the Cold War?

{ZåZ{b{IV àíZm| Ho$ CÎma Xr{OE :

(H$) Vrgar Xþ{Z¶m Ho$ {H$gr EH$ Xoe H$m Zm‘ {b{IE&

(I) erV ¶wÕ H$s g‘m{á {H$g df© ‘| hþB© Wr?

From Q. Nos. 29 to 33, fill in the blanks to make the sentence meaningful and
correct :

àíZ g§»¶m 29 go 33 VH$, dm³¶ H$mo AW©nyU© Ed§ ghr ~ZmZo Ho$ {bE [aº$ ñWmZ ^[aE :

29. The United Nations, which was established in _____, has been the most
important international _____ since the Second World War. 1+1=2

g§¶wº$ amï´> g§K, {OgH$s ñWmnZm _____ ‘| hþB© Wr, {ÛVr¶ {díd¶wÕ Ho$ ~mX go EH$ ‘hÎdnyU© AÝVam©ï´>r¶
_____ ~Zm hþAm h¡&

30. The head of _____, Dalai Lama fled from China and took shelter in _____
in 1959. 1+1=2

_____ Ho$ ‘w{I¶m XbmB© bm‘m Zo MrZ go ^mJH$a 1959 ‘| _____ ‘| eaU br&

31. In 1999, Pakistan’s aggression in _____ brought the two countries on the
verge of a _____ confrontation. 1+1=2

1999 ‘| nm{H$ñVmZ Ho$ _____ AmH«$‘U Zo XmoZm| Xoem| H$mo _____ Q>H$amd Ho$ H$Jma na bm I‹S>m {H$¶m&

Optional Module–7A

d¡H$pënH$ ‘m°S²>¶yb>–7A

32. The UN Security Council has ten _____ members and five _____ members.
1+1=2

g§¶wº$ amï´> gwajm n[afX² ‘| Xg _____ gXñ¶ h¢ Am¡a nm±M _____ gXñ¶ h¢&

33. The Cuban Missile Crisis of 1962 is a good example of _____, that helped
avoid a direct conflict between _____ and the United States. 1+1=2

1962 H$m ³¶y~m {‘gmBb g§H$Q> _____ H$m EH$ AÀN>m CXmhaU h¡ {OgZo _____ Am¡a g§¶wº$ amÁ¶
A‘arH$m Ho$ ~rM grYo ¶wÕ H$mo Q>mbZo ‘| ghm¶Vm H$s&

34. Answer the following questions : 1+1=2

(a) How many principal organs does the United Nations have?

(b) Which organ of the United Nations has ceased to play an active role
in the UN system?
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{ZåZ{b{IV àíZm| Ho$ CÎma Xr{OE :

(H$) g§¶wº$ amï´> g§K Ho$ {H$VZo à‘wI A§J h¢?

(I) g§¶wº$ amï´> g§K Ho$ H$m¡Z-go A§J Ho$ nmg H$aZo Ho$ {bE H$moB© H$m¶© Zht h¡?

35. Fill in the blanks : 1+1=2

The United Nations _____ Council sent mediators in 1950s to solve the
_____ problem but they were not fruitful.

[aº$ ñWmZ ^[aE …

g§¶wº$ amï´> _____ n[afX² Zo 1950 Ho$ XeH$ ‘| _____ g‘ñ¶m hb H$aZo Ho$ {bE ‘Ü¶ñW ^oOo Wo
naÝVw do Ag’$b aho&

Optional Module–7B

d¡H$pënH$ ‘m°S²>¶yb>–7B

32. Fill in the blanks : 1+1=2

In the Constitution, adequate _____ have been made to ensure _____ of the
Public Service Commissions.

[aº$ ñWmZ ^[aE …

g§{dYmZ ‘| bmoH$ godm Am¶moJ H$s _____ H$mo gw{ZpíMV H$aZo Ho$ {bE n¶m©á _____ {H$E JE h¢&

33. Answer the following questions : 1+1=2

(a) What is the tenure of the Chairman of the Union Public Service
Commission?

(b) Is the Chairman of the UPSC eligible for any future employment under
the Government?

{ZåZ{b{IV àíZm| Ho$ CÎma Xr{OE :

(H$) Ho$ÝÐr¶ bmoH$ godm Am¶moJ Ho$ AÜ¶j H$m H$m¶©H$mb {H$VZo df© H$m h¡?

(I) ³¶m Ho$ÝÐr¶ bmoH$ godm Am¶moJ H$m AÜ¶j gaH$ma Ho$ AÝVJ©V ^{dî¶ ‘| H$ht {Z¶wº$ {H$¶m Om
gH$Vm h¡?

34. Answer the following questions : 1+1=2

(a) What is the main function of the political executive?

(b) What is the main function of the administrative executive?
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{ZåZ{b{IV àíZm| Ho$ CÎma Xr{OE :

(H$) amOZr{VH$ H$m¶©nm{bH$m H$m ‘w»¶ H$m¶© ³¶m h¡?

(I) àemg{ZH$ H$m¶©nm{bH$m H$m ‘w»¶ H$m¶© ³¶m h¡?

35. Fill in the blanks : 1+1=2

The _____ of neutrality insulates the civil service from any _____
interference.

[aº$ ñWmZ ^[aE …

VQ>ñWVm H$m _____ {g{db gd}ÝQ²>g H$mo {H$gr àH$ma Ho$ _____ hñVjon go AbJ H$aVm h¡&

SECTION–B

IÊS>–I

36. Explain the meaning of ‘revolution’ according to Marxism. 2

‘m³g©dmX Ho$ AZwgma "H«$mpÝV' eãX H$m AW© ñnï> H$s{OE&

Or / AWdm
Explain the concept of ‘Limited State’ as advocated by liberalism.

CXmadmX Ûmam àMm[aV "gr{‘V amÁ¶' H$m {gÕmÝV ñnï> H$s{OE&

37. Explain the relationship between the Fundamental Rights and the
Directive Principles of State Policy. 2

‘m¡{bH$ A{YH$mam| Ed§ amÁ¶ Ho$ Zr{V {ZXoeH$ {gÕmÝVm| Ho$ ~rM gå~ÝY H$s ì¶m»¶m H$s{OE&

Or / AWdm
State any two Directive Principles which have been implemented by the
Government of India.

Eoogo {H$Ýht Xmo Zr{V {ZXoeH$ {gÕmÝVm| H$m C„oI H$s{OE {OÝh| ^maV gaH$ma Ûmam bmJy {H$¶m Om
MwH$m h¡&

38. Explain the supremacy of judiciary as a feature of Indian federalism. 2

^maVr¶ g§KdmX H$s EH$ {deofVm Ho$ ê$n ‘| Ý¶m¶nm{bH$m H$s gdm}ƒVm H$s ì¶m»¶m H$s{OE&

39. Highlight any two conditions under which the President’s Rule is imposed
in a State. 1×2=2

Eogr H$moB© Xmo n[apñW{V¶m± COmJa H$s{OE {OZHo$ AÝVJ©V {H$gr amÁ¶ ‘| amï´>n{V emgZ bmJy {H$¶m Om
gH$Vm h¡&



317/MAY/209A 14

Or / AWdm

Highlight any two conditions under which the National Emergency can be
proclaimed in India.

Eogr {H$Ýht Xmo n[apñW{V¶m| H$mo COmJa H$s{OE {OZHo$ AÝVJ©V ^maV ‘| amï´>r¶ AmnmVH$mb Kmo{fV {H$¶m
Om gH$Vm h¡&

40. Analyze any one recommendation of the Sarkaria Commission on the
Centre-State relations. 2

Ho$ÝÐ-amÁ¶ Ho$ gå~ÝYm| Ho$ ~mao ‘| gaH$m[a¶m Am¶moJ H$s {H$gr EH$ {g’$m[ae H$m {díbofU H$s{OE&

Or / AWdm
Highlight any two financial relations between the Union and the States.

Ho$ÝÐ Am¡a amÁ¶ Ho$ ~rM {H$Ýht Xmo {dÎmr¶ gå~ÝYm| H$mo COmJa H$s{OE&

41. Explain the collective responsibility of the Council of Ministers. 2

‘§Ìr n[afX² H$s gm‘y{hH$ {µOå‘odmar (CÎmaXm{¶Ëd) H$s ì¶m»¶m H$s{OE&

Or / AWdm
Explain the importance of ‘No-Confidence Motion’.

"A{dídmg àñVmd' Ho$ ‘hÎd H$mo ñnï> H$s{OE&

42. Explain any two functions of Municipalities. 1×2=2

ZJanm{bH$mAm| Ho$ {H$Ýht Xmo H$m¶m] H$mo ñnï> H$s{OE&

43. Explain the concept of sustainable development. 2

Adbå~Zr¶ {dH$mg Ho$ {gÕmÝV H$s ì¶m»¶m H$s{OE&

44. Analyze any two main hindrances to good governance. 1×2=2

gwemgZ (AÀN>o emgZ) H$s {H$Ýht Xmo ‘w»¶ ~mYmAm| H$m {díbofU H$s{OE&

45. Highlight any two areas of cooperation between India and Sri Lanka. 1×2=2

^maV Am¡a lrb§H$m Ho$ ~rM gh¶moJ Ho$ {H$Ýht Xmo joÌm| H$mo COmJa H$s{OE&

Optional Module–7A

d¡H$pënH$ ‘m°S²>¶yb>–7A

46. Describe any two peacekeeping activities of the United Nations. 1×2=2

g§¶wº$ amï´> H$s empÝV ~hmbr H$s {H$Ýht Xmo J{V{d{Y¶m| H$m dU©Z H$s{OE&
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Optional Module–7B

d¡H$pënH$ ‘m°S²>¶yb>–7B

46. Describe any two features of bureaucracy. 1×2=2

Zm¡H$aemhr H$s {H$Ýht Xmo {deofVmAm| H$m dU©Z H$s{OE&

47. Explain any three differences between State and Government. 1×3=3

amÁ¶ Am¡a gaH$ma Ho$ ~rM {H$Ýht VrZ AÝVam| H$s ì¶m»¶m H$s{OE&

Or / AWdm

Explain any three differences between State and Nation.

amÁ¶ Am¡a amï´> Ho$ ~rM H$moB© VrZ AÝVa ñnï> H$s{OE&

48. Explain the relevance of Marxism. 3

‘m³g©dmX H$s àmg§{JH$Vm H$s ì¶m»¶m H$s{OE&

Or / AWdm

Explain any two weaknesses of liberalism.

CXmadmX H$s {H$Ýht Xmo H${‘¶m| H$mo ñnï> H$s{OE&

49. Describe any three functions of the Election Commission of India. 1×3=3

^maV Ho$ MwZmd Am¶moJ Ho$ {H$Ýht VrZ H$m¶m] H$m dU©Z H$s{OE&

Or / AWdm

Name any three pressure groups linked to trade unions.

Q´>oS> ¶y{Z¶Zm| go Ow‹S>o {H$Ýht VrZ X~md g‘yhm| Ho$ Zm‘ {b{IE&

50. Explain any three contributions of the regional political parties in India.
1×3=3

^maV ‘| joÌr¶ amOZr{VH$ nm{Q>©¶m| Ho$ {H$Ýht VrZ ¶moJXmZm| H$s ì¶m»¶m H$s{OE&

51. Analyze any three weaknesses of the Indian Electoral System. 1×3=3

^maVr¶ MwZmd àUmbr H$s {H$Ýht VrZ H${‘¶m| H$m {díbofU H$s{OE&



Optional Module–7A

d¡H$pënH$ ‘m°S²>¶yb>–7A

52. Highlight any three main activities of the United Nations. 1×3=3

g§¶wº$ amï´> H$s {H$Ýht VrZ à‘wI J{V{d{Y¶m| H$mo COmJa H$s{OE&

Optional Module–7B

d¡H$pënH$ ‘m°S²>¶yb>–7B

52. Highlight any two weaknesses of the committed bureaucracy. 1½×2=3

à{V~Õ Zm¡H$aemhr H$s {H$Ýht Xmo H${‘¶m| H$mo COmJa H$s{OE&

53. Explain any five powers and the jurisdiction of High Courts. 1×5=5

Cƒ Ý¶m¶mb¶m| Ho$ joÌm{YH$ma H$s {H$Ýht nm±M e{º$¶m| H$s ì¶m»¶m H$s{OE&

Or / AWdm

Explain any five sources of income of the Panchayats.

n§Mm¶Vm| H$s Am¶ Ho$ {H$Ýht nm±M òmoVm| H$s ì¶m»¶m H$s{OE&

54. Describe any five features of Human Rights. 1×5=5

‘mZdm{YH$mam| H$s {H$Ýht nm±M {deofVmAm| H$m dU©Z H$s{OE&


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3. Making any identification mark in the Answer-Book or writing Roll Number
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5. (a) The Question Paper is in English/Hindi medium only. However, if you
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English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada,
Telugu, Marathi, Odia, Gujarati, Konkani, Manipuri, Assamese, Nepali,
Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in
the box provided in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and
English, the responsibility for any errors/mistakes in understanding the
questions will be yours only.

6. In case of any doubt or confusion in the question paper, the English Version
will prevail.
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gm‘mÝ¶ AZwXoe …

1. narjmWu àíZ-nÌ Ho$ nhbo n¥ð> na AnZm AZwH«$‘m§H$ Adí¶ {bI|&

2. H¥$n¶m àíZ-nÌ H$mo Om±M b| {H$ àíZ-nÌ Ho$ Hw$b n¥ð>m| VWm àíZm| H$s CVZr hr g§»¶m h¡ {OVZr àW‘ n¥ð> Ho$ g~go
D$na N>nr h¡& Bg ~mV H$s Om±M ^r H$a b| {H$ àíZ H«${‘H$ ê$n ‘| h¢&

3. CÎma-nwpñVH$m ‘| nhMmZ-{M• ~ZmZo AWdm {Z{X©ï> ñWmZm| Ho$ A{V[aº$ H$ht ̂ r AZwH«$‘m§H$ {bIZo na narjmWu H$mo
A¶mo½¶ R>ham¶m OmEJm&

4. AnZr CÎma-nwpñVH$m na àíZ-nÌ H$m H$moS> Z§0 69/MAY/4, goQ v {bI|&

5. (H$) n«íZ-nÌ Ho$db {hÝXr/A§J«oOr ‘| h¡& {’$a ^r, ¶{X Amn Mmh| Vmo ZrMo Xr JB© {H$gr EH$ ^mfm ‘| CÎma Xo
gH$Vo h¢ …

A§J«oOr, {hÝXr, CXÿ©, n§Om~r, ~§Jbm, V{‘b, ‘b¶mb‘, H$Þ‹S>, VobwJy, ‘amR>r, C{‹S>¶m, JwOamVr, H$m|H$Ur,
‘{Unwar, Ag{‘¶m, Zonmbr, H$í‘rar, g§ñH¥$V Am¡a {gÝYr&

H¥$n¶m CÎma-nwpñVH$m ‘| {XE JE ~m°³g ‘| {bI| {H$ Amn {H$g ^mfm ‘| CÎma {bI aho h¢&

(I) ¶{X Amn {hÝXr Ed§ A§J«oOr Ho$ A{V[aº$ {H$gr AÝ¶ ̂ mfm ‘| CÎma {bIVo h¢, Vmo àíZm| H$mo g‘PZo ‘| hmoZo dmbr
Ìw{Q>¶m|/Jb{V¶m| H$s {Oå‘oXmar Ho$db AmnH$s hmoJr&

6. àíZ-nÌ ‘| {H$gr ^r àH$ma Ho$ g§Xoh AWdm Xþ{dYm H$s pñW{V ‘| A§J«oOr AZwdmX hr ‘mÝ¶ hmoJm&
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POLITICAL SCIENCE

amOZr{V {dkmZ

(317)

Time : 3 Hours ] [ Maximum Marks : 100

g‘¶ … 3 KÊQ>o ] [ nyUmªH$ … 100

Note  : (i) This Question Paper consists of 54 questions in all.

(ii) All questions are compulsory.

(iii) Marks are given against each question.

(iv) Attempt all questions either from Optional Module–7A or Optional
Module–7B in all Sections.

(v) Section–A consists of

(a) Q. Nos. 1 to 20—Multiple Choice-type Questions (MCQs) carrying
1 mark each. Select and write the most appropriate option out of the
four options given in each of these questions.

(b) Q. Nos. 21 to 35—Objective-type Questions carrying 2 marks each
(with 2 sub-parts of 1 mark each). Attempt these questions as per
the instructions given for each of the questions.

(vi) Section–B consists of

(a) Q. Nos. 36 to 46—Very Short Answer-type Questions carrying
2 marks each to be answered in the range of 30 to 50 words.

(b) Q. Nos. 47 to 52—Short Answer-type Questions carrying 3 marks
each to be answered in the range of 50 to 80 words.

(c) Q. Nos. 53 and 54—Long Answer-type Questions carrying 5 marks
each to be answered in the range of 80 to 120 words.

{ZX}e … (i) Bg àíZ-nÌ ‘| Hw$b 54 àíZ h¢&

(ii) g^r àíZ A{Zdm¶© h¢&

(iii) àË¶oH$ àíZ Ho$ A§H$ Cg àíZ Ho$ gm‘Zo {XE JE h¢&

(iv) g^r IÊS>m| ‘| d¡H$pënH$ ‘m°S²>¶yb–7A AWdm d¡H$pënH$ ‘m°S>²¶yb–7B Ho$ g^r àíZm| Ho$ CÎma {b{IE&

(v) IÊS>–H$
(a) àíZ g§»¶m 1 go 20 VH$ ~hþ{dH$ënr¶ àíZ h¢& àË¶oH$ àíZ 1 A§H$ H$m h¡& BZ àíZm| ‘| {XE

JE Mma {dH$ënm| ‘| go g~go Cn¶wº$ {dH$ën H$mo MwZH$a CÎma Ho$ ê$n ‘| {b{IE&

(b) àíZ g§»¶m 21 go 35 VH$ 2 A§H$ dmbo dñVw{Zð> àH$ma Ho$ àíZ h¡§& Eogo àË¶oH$ àíZ
‘| 1 A§H$ Ho$ 2 Cn^mJ h¢& BZ àíZm| Ho$ CÎma {XE JE {ZX}emZwgma {b{IE&
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(vi) IÊS>–I
(a) àíZ g§»¶m 36 go 46 A{V bKyÎmar¶ àH$ma Ho$ àíZ h¢& àË¶oH$ àíZ 2 A§H$ H$m h¡ {OgH$m

CÎma 30 go 50 eãXm| ‘| {bIZm h¡&
(b) àíZ g§»¶m 47 go 52 bKyÎmar¶ àH$ma Ho$ àíZ h¢& àË¶oH$ àíZ 3 A§H$ H$m h¡ {OgH$m CÎma

50 go 80 eãXm| ‘| {bIZm h¡&
(c) àíZ g§»¶m 53 Am¡a 54 XrK©-CÎmar¶ àH$ma Ho$ àíZ h¢& àË¶oH$ àíZ 5> A§H$ H$m h¡ {OgH$m

CÎma 80 go 120 eãXm| ‘| {bIZm h¡&

SECTION–A

IÊS>–H$

1. The armed forces of which country had crossed over to South Korea in
1950 and refused to go back? 1

(A) China (B) Russia

(C) North Korea (D) Japan

{H$g Xoe H$s geó goZm 1950 ‘| X{jU H$mo[a¶m ‘| Kwg JB© Wr Am¡a dmng OmZo go BÝH$ma H$a
{X¶m Wm?

(A) MrZ (B) ê$g

(C) CÎma H$mo[a¶m (D) OmnmZ

2. Which one colony was a victim of apartheid? 1

(A) South Africa (B) China

(C) Myanmar (D) Sri Lanka

H$m¡Z-gm EH$ Cn{Zdoe a§J-^oX H$m {eH$ma Wm?

(A) X{jU A’«$sH$m (B) MrZ

(C) å¶m§‘ma (D) lrb§H$m

(1) Answers of all questions are to be given in the Answer-Book given to you.

g^r àíZm| Ho$ CÎma AmnH$mo Xr JB© CÎma-nwpñVH$m ‘| hr {bI|&
(2) 15 minutes time has been allotted to read this question paper. The question

paper will be distributed at 2:15 p.m. From 2:15 p.m. to 2:30 p.m., the
students will read the question paper only and will not write any answer on
the Answer-Book during this period.

Bg àíZ-nÌ H$mo n‹T>Zo Ho$ {bE 15 {‘ZQ> H$m g‘¶ {X¶m J¶m h¡& àíZ-nÌ H$m {dVaU Xmonha ‘|
2:15 ~Oo {H$¶m OmEJm& Xmonha 2:15 ~Oo go 2:30 ~Oo VH$ N>mÌ Ho$db àíZ-nÌ H$mo n‹T>|Jo Am¡a
Bg Ad{Y Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo&
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3. Which social scientist made a systematic study of bureaucracy? 1

(A) Mahatma Gandhi (B) Karl Marx

(C) Laski (D) Max Weber

H$m¡Z-go g‘mO {dkmZr Zo Zm¡H$aemhr H$m ì¶dpñWV AÜ¶¶Z {H$¶m Wm?

(A) ‘hmË‘m Jm±Yr (B) H$mb© ‘m³g©

(C) bmñH$s (D) ‘¡³g do~a

4. The President of India places the annual report of the UPSC before

(A) the Parliament (B) the Supreme Court of India

(C) the Planning Commission (D) the Governors of the States 1

^maV H$m amï´>n{V Ho$ÝÐr¶ bmoH$ godm Am¶moJ H$s dm{f©H$ [anmoQ>© {ZåZ{b{IV ‘| go {H$gHo$ g‘j àñVwV
H$aVm h¡?

(A) g§gX (B) ^maV H$m gdm}ƒ Ý¶m¶mb¶

(C) ¶moOZm Am¶moJ (D) amÁ¶m| Ho$ amÁ¶nmb

5. How many National Parks for wildlife conservation are there in India? 1

(A) 130 (B) 95

(C) 80 (D) 75

dÝ¶Ord g§ajU Ho$ {bE ^maV ‘| {H$VZo amï´>r¶ nmH©$ h¢?

(A) 130 (B) 95

(C) 80 (D) 75

6. ‘Sustainable Development’ is more about

(A) development (B) education

(C) agriculture (D) environment 1

"Adbå~Zr¶ {dH$mg' {ZåZ{b{IV ‘| go {H$gHo$ ~mao ‘| à¶moJ {H$¶m OmVm h¡?

(A) {dH$mg (B) {ejm

(C) H¥${f (D) n¶m©daU

7. In which year was the Universal Declaration of Human Rights adopted? 1

(A) 1945 (B) 1947

(C) 1948 (D) 1951
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{ZåZ{b{IV ‘| go {H$g df© ‘mZdm{YH$ma H$m gmd©^m¡{‘H$ KmofUm-nÌ AnZm¶m J¶m?

(A) 1945 (B) 1947

(C) 1948 (D) 1951

8. Which one of the following is not a feature of good governance? 1

(A) People caring administration

(B) Corruption-free Government

(C) Absolute powers to administrators

(D) Justice to people

{ZåZ{b{IV ‘| go H$m¡Z-gr gwemgZ H$s EH$ {deofVm Zht h¡?

(A) OZ-{hV¡fr àemgZ (B) ^«ï>mMma-‘wº$ gaH$ma

(C) àemgH$m| H$mo Agr{‘V e{º$¶m± XoZm (D) bmoJm| H$mo Ý¶m¶ XoZm

9. Which of the following is a regional party of Haryana? 1

(A) The Telugu Desam

(B) The All Party Hill Leaders Conference

(C) The Shiv Sena

(D) The Indian National Lok Dal

Cg joÌr¶ Xb H$mo Mw{ZE Omo h[a¶mUm go gå~ÝY aIVm h¡&

(A) VobwJy Xoe‘ (B) Am°b nmQ>u {hb brS>g© H$m±’«|$g

(C) {ed goZm (D) B§{S>¶Z ZoeZb bmoH$ Xb

10. In India, which one political party won five general elections in a row? 1

(A) The Bharatiya Janata Party

(B) The Indian National Congress

(C) The National Conference

(D) The DMK

^maV ‘| H$m¡Z-go EH$ amOZr{VH$ Xb Zo bJmVma nm±M ~ma Am‘ MwZmdm| ‘| {dO¶ àmá H$s?

(A) ^maVr¶ OZVm nmQ>u (B) ^maVr¶ amï´>r¶ H$m±J«og

(C) ZoeZb H$m±’«|$g (D) S>r0E‘0Ho$0
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11. An EVM (Electronic Voting Machine) can accommodate a maximum
number of how many candidates? 1

(A) 12 (B) 16

(C) 20 (D) 24

EH$ B©0dr0E‘0 (Bbo³Q´>m°{ZH$ dmoqQ>J ‘erZ) ‘| A{YH$V‘ {H$VZo Cå‘rXdmam| H$mo Xem©¶m Om gH$Vm h¡?

(A) 12 (B) 16

(C) 20 (D) 24

12. High Courts work under the superintendence, direction and control of the

(A) President (B) Governors

(C) Supreme Court (D) Law Minister 1

Cƒ Ý¶m¶mb¶ {ZåZ{b{IV ‘| go {H$gH$s/{H$ZH$s XoI-aoI, {ZX}e Am¡a {Z¶§ÌU ‘| H$m¶© H$aVo h¢?

(A) amï>́n{V (B) amÁ¶nmb

(C) gdm}ƒ Ý¶m¶mb¶ (D) H$mZyZ ‘§Ìr

13. A money bill can be introduced in the Lok Sabha with the prior approval
of the

(A) Speaker (B) Prime Minister

(C) President (D) Vice President 1

bmoH$g^m ‘| {dÎm {dYo¶H$ H$mo {H$gH$s AZw‘{V àmá H$aZo Ho$ ~mX àñVwV {H$¶m Om gH$Vm h¡?

(A) ñnrH$a (B) àYmZ‘§Ìr

(C) amï>́n{V (D) Cn-amï´>n{V

14. What can be the maximum number of members of the Lok Sabha? 1

(A) 540 (B) 543

(C) 545 (D) 550

bmoH$g^m Ho$ A{YH$V‘ {H$VZo gXñ¶ hmo gH$Vo h¢?

(A) 540 (B) 543

(C) 545 (D) 550
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15. Who among the following presides over the sessions of the Rajya Sabha? 1

(A) The President (B) The Speaker

(C) The Vice President (D) The Leader of the House

amÁ¶g^m H$s ~¡R>H$m| H$s AÜ¶jVm {ZåZ{b{IV ‘| go H$m¡Z H$aVm h¡?

(A) amï>́n{V (B) ñnrH$a

(C) Cn-amï´>n{V (D) amÁ¶g^m H$m ZoVm

16. How many subjects are there in the ‘Concurrent List’ in the Constitution
of India for the division of powers? 1

(A) 97 (B) 47

(C) 66 (D) 75

^maVr¶ g§{dYmZ ‘| e{º$¶m| Ho$ {d^mOZ Ho$ {bE XO© "g‘dVu gyMr' ‘| {H$VZo {df¶m| H$mo em{‘b {H$¶m
J¶m h¡?

(A) 97 (B) 47

(C) 66 (D) 75

17. How many freedoms have been guaranteed by the Indian Constitution
under the Right to Freedom? 1

(A) 5 (B) 6

(C) 7 (D) 8

ñdV§ÌVm Ho$ A{YH$ma Ho$ AÝVJ©V ^maVr¶ g§{dYmZ Zo {H$VZr ñdV§ÌVmAm| H$s Jma§Q>r Xr h¡?

(A) 5 (B) 6

(C) 7 (D) 8

18. Which Fundamental Right has been removed from the list of Fundamental
Rights by the 44th Constitutional Amendment Act? 1

(A) Right to Education (B) Right to Property

(C) Right to Freedom (D) Right to Freedom of Religion

44d| g§{dYmZ g§emoYZ A{Y{Z¶‘ Ho$ Ûmam {H$g ‘m¡{bH$ A{YH$ma H$mo ‘m¡{bH$ A{YH$mam| H$s gyMr go
hQ>m {X¶m J¶m h¡?

(A) {ejm H$m A{YH$ma (B) gån{Îm H$m A{YH$ma

(C) ñdV§ÌVm H$m A{YH$ma (D) Ym{‘©H$ ñdV§ÌVm H$m A{YH$ma
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Optional Module–7A

d¡H$pënH$ ‘m°S²>¶yb>–7A

19. Which one of the following statements is not true about the Government? 1

(A) It is an element of State.

(B) It is responsible for making laws.

(C) It gets its powers from the Constitution.

(D) It is permanent.

{ZåZ{b{IV ‘| go H$m¡Z-gm H$WZ "gaH$ma' Ho$ ~mao ‘| JbV h¡?

(A) ¶h amÁ¶ H$m EH$ VÎd h¡&

(B) ¶h H$mZyZ ~ZmZo Ho$ {bE {µOå‘odma h¡&

(C) BgH$mo g§{dYmZ go e{º$¶m± àmá hmoVr h¢&

(D) ¶h ñWm¶r hmoVr h¡&

20. Who among the following believed that ‘ends and means are the two sides
of the same coin’? 1

(A) Karl Marx (B) Laski

(C) Mahatma Gandhi (D) Machiavelli

{ZåZ{b{IV ‘| go {H$gH$m {dídmg Wm {H$ "gmÜ¶ Am¡a gmYZ EH$ hr {g¸o$ Ho$ Xmo nhby h¢'?

(A) H$mb© ‘m³g© (B) bmñH$s

(C) ‘hmË‘m Jm±Yr (D) ‘¡{H$¶mdobr

Optional Module–7B

d¡H$pënH$ ‘m°S²>¶yb>–7B

19. ‘The theory of class struggle’ is a principle related to

(A) Liberalism (B) Marxism

(C) Gandhism (D) Capitalism 1

"dJ© g§Kf© H$m {gÕmÝV' {ZåZ{b{IV ‘| go {H$ggo gå~pÝYV h¡?

(A) CXmadmX (B) ‘m³g©dmX

(C) Jm±YrdmX (D) ny±OrdmX
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20. Capitalist economy is closely associated with

(A) Marxism (B) Socialism

(C) Communism (D) Liberalism 1

ny±OrdmXr AW©ì¶dñWm {ZåZ{b{IV ‘| go {H$gHo$ gmW {ZH$Q>Vm go Ow‹S>r hþB© h¡?
(A) ‘m³g©dmX (B) g‘mOdmX
(C) gmå¶dmX (D) CXmadmX

From Q. Nos. 21 to 23, fill in the blanks to make the sentence meaningful and
correct :

àíZ g§»¶m 21 go 23 VH$ dm³¶ H$mo AW©nyU© Ed§ ghr ~ZmZo Ho$ {bE [aº$ ñWmZ ^[aE :

21. In 1999, Pakistan’s aggression in _____ brought the two countries on the
verge of a _____ confrontation. 1+1=2

1999 ‘| nm{H$ñVmZ Ho$ _____ AmH«$‘U Zo XmoZm| Xoem| H$mo _____ Q>H$amd Ho$ H$Jma na bm I‹S>m {H$¶m&

22. The head of _____, Dalai Lama fled from China and took shelter in _____
in 1959. 1+1=2

_____ Ho$ ‘w{I¶m XbmB© bm‘m Zo MrZ go ^mJH$a 1959 ‘| _____ ‘| eaU br&

23. The United Nations, which was established in _____, has been the most
important international _____ since the Second World War. 1+1=2

g§¶wº$ amï´> g§K, {OgH$s ñWmnZm _____ ‘| hþB© Wr, {ÛVr¶ {díd¶wÕ Ho$ ~mX go EH$ ‘hÎdnyU© AÝVam©ï´>r¶
_____ ~Zm hþAm h¡&

24. Answer the following questions : 1+1=2

(a) Name any one country of the Third World.

(b) Which year is known for the end of the Cold War?

{ZåZ{b{IV àíZm| Ho$ CÎma Xr{OE :

(H$) Vrgar Xþ{Z¶m Ho$ {H$gr EH$ Xoe H$m Zm‘ {b{IE&

(I) erV ¶wÕ H$s g‘m{á {H$g df© ‘| hþB© Wr?

25. Answer the following questions : 1+1=2

(a) In which city did the countries of Asia and Africa hold a Conference
in 1955?

(b) Name the agreement signed between India and China to adhere to the
five principles of bilateral relations.

{ZåZ{b{IV àíZm| Ho$ CÎma Xr{OE :

(H$) 1955 ‘| E{e¶m Am¡a A’«$sH$m Ho$ Xoem| Zo H$m¡Z-go eha ({gQ>r) ‘| gå‘obZ {H$¶m Wm?

(I) ^maV Am¡a MrZ Ho$ ~rM nmañn[aH$ gå~ÝYm| Ho$ nm±M {gÕmÝVm| H$m nmbZ H$aZo gå~ÝYr {H$E JE
g‘Pm¡Vo H$m Zm‘ {b{IE&
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From Q. Nos. 26 to 31, fill in the blanks to make the sentence meaningful and
correct :

àíZ g§»¶m 26 go 31 VH$, dm³¶ H$mo AW©nyU© Ed§ ghr ~ZmZo Ho$ {bE [aº$ ñWmZ ^[aE :

26. Good governance is concerned with the formulation of _____ to improve the
_____ of life of the people. 1+1=2

gwemgZ H$m gå~ÝY _____ ~ZmZo go h¡ {Oggo bmoJm| Ho$ OrdZ Ho$ _____ ‘| gwYma bm¶m Om gHo$&

27. Every year the _____ is presented by the _____ Minister in the Lok Sabha.
1+1=2

àË¶oH$ df© _____ bmoH$g^m ‘| _____ ‘§Ìr Ûmam àñVwV {H$¶m OmVm h¡&

28. The President of India can be _____ from his office through a process called
_____. 1+1=2

^maV Ho$ amï´>n{V H$mo CgHo$ nX go _____ Ho$ Ûmam _____ {H$¶m Om gH$Vm h¡&

29. In the _____ Constitution of India there were _____ Fundamental Rights.
1+1=2

^maV Ho$ _____ g§{dYmZ ‘| _____ ‘m¡{bH$ A{YH$ma Wo&

30. The Directive Principles of State Policy seek to provide equal pay for equal
_____ both to men and _____. 1+1=2

amÁ¶ Ho$ Zr{V {ZXoeH$ {gÕmÝV g‘mZ _____ Ho$ {bE XmoZm| _____ Am¡a nwéf Ho$ {bE g‘mZ doVZ
H$m {ZX}e XoVo h¢&

31. Gandhiji advocated _____ of powers as he considered it the spirit of _____.
1+1=2

Jm±YrOr Zo e{º$¶m| Ho$ _____ H$s dH$mbV H$s ³¶m|{H$ do BgH$mo _____ H$s ^mdZm ‘mZVo Wo&

Optional Module–7A

d¡H$pënH$ ‘m°S²>¶yb>–7A

32. Fill in the blanks : 1+1=2

The United Nations _____ Council sent mediators in 1950s to solve the
_____ problem but they were not fruitful.

[aº$ ñWmZ ^[aE …

g§¶wº$ amï´> _____ n[afX² Zo 1950 Ho$ XeH$ ‘| _____ g‘ñ¶m hb H$aZo Ho$ {bE ‘Ü¶ñW ^oOo Wo
naÝVw do Ag’$b aho&
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33. Answer the following questions : 1+1=2

(a) How many principal organs does the United Nations have?

(b) Which organ of the United Nations has ceased to play an active role
in the UN system?

{ZåZ{b{IV àíZm| Ho$ CÎma Xr{OE :

(H$) g§¶wº$ amï´> g§K Ho$ {H$VZo à‘wI A§J h¢?

(I) g§¶wº$ amï´> g§K Ho$ H$m¡Z-go A§J Ho$ nmg H$aZo Ho$ {bE H$moB© H$m¶© Zht h¡?

34. Fill in the blanks : 1+1=2

The Cuban Missile Crisis of 1962 is a good example of _____, that helped
avoid a direct conflict between _____ and the United States.

[aº$ ñWmZ ^[aE …

1962 H$m ³¶y~m {‘gmBb g§H$Q> _____ H$m EH$ AÀN>m CXmhaU h¡ {OgZo _____ Am¡a g§¶wº$ amÁ¶
A‘arH$m Ho$ ~rM grYo ¶wÕ H$mo Q>mbZo ‘| ghm¶Vm H$s&

35. Fill in the blanks : 1+1=2

The UN Security Council has ten _____ members and five _____ members.

[aº$ ñWmZ ^[aE …

g§¶wº$ amï´> gwajm n[afX² ‘| Xg _____ gXñ¶ h¢ Am¡a nm±M _____ gXñ¶ h¢&

Optional Module–7B

d¡H$pënH$ ‘m°S²>¶yb>–7B

32. Fill in the blanks : 1+1=2

The _____ of neutrality insulates the civil service from any _____
interference.

[aº$ ñWmZ ^[aE …

VQ>ñWVm H$m _____ {g{db gd}ÝQ²>g H$mo {H$gr àH$ma Ho$ _____ hñVjon go AbJ H$aVm h¡&

33. Answer the following questions : 1+1=2

(a) What is the main function of the political executive?

(b) What is the main function of the administrative executive?

{ZåZ{b{IV àíZm| Ho$ CÎma Xr{OE :

(H$) amOZr{VH$ H$m¶©nm{bH$m H$m ‘w»¶ H$m¶© ³¶m h¡?

(I) àemg{ZH$ H$m¶©nm{bH$m H$m ‘w»¶ H$m¶© ³¶m h¡?



317/MAY/209B 13 [ P.T.O.

34. Answer the following questions : 1+1=2

(a) What is the tenure of the Chairman of the Union Public Service
Commission?

(b) Is the Chairman of the UPSC eligible for any future employment under
the Government?

{ZåZ{b{IV àíZm| Ho$ CÎma Xr{OE :

(H$) Ho$ÝÐr¶ bmoH$ godm Am¶moJ Ho$ AÜ¶j H$m H$m¶©H$mb {H$VZo df© H$m h¡?

(I) ³¶m Ho$ÝÐr¶ bmoH$ godm Am¶moJ H$m AÜ¶j gaH$ma Ho$ AÝVJ©V ^{dî¶ ‘| H$ht {Z¶wº$ {H$¶m Om
gH$Vm h¡?

35. Fill in the blanks : 1+1=2

In the Constitution, adequate _____ have been made to ensure _____ of the
Public Service Commissions.

[aº$ ñWmZ ^[aE …

g§{dYmZ ‘| bmoH$ godm Am¶moJ H$s _____ H$mo gw{ZpíMV H$aZo Ho$ {bE n¶m©á _____ {H$E JE h¢&

SECTION–B

IÊS>–I

36. Highlight any two areas of cooperation between India and Sri Lanka. 1×2=2

^maV Am¡a lrb§H$m Ho$ ~rM gh¶moJ Ho$ {H$Ýht Xmo joÌm| H$mo COmJa H$s{OE&

37. Explain the concept of sustainable development. 2

Adbå~Zr¶ {dH$mg Ho$ {gÕmÝV H$s ì¶m»¶m H$s{OE&

38. Explain any two legislative relations between Centre and States. 1×2=2

Ho$ÝÐ Am¡a amÁ¶m| Ho$ ~rM H$moB© Xmo {dYm¶r gå~ÝY ñnï> H$s{OE&

39. Explain the collective responsibility of the Council of Ministers. 2

‘§Ìr n[afX² H$s gm‘y{hH$ {µOå‘odmar (CÎmaXm{¶Ëd) H$s ì¶m»¶m H$s{OE&

Or / AWdm

Explain the importance of ‘No-Confidence Motion’.

"A{dídmg àñVmd' Ho$ ‘hÎd H$mo ñnï> H$s{OE&
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40. Highlight any two conditions under which the President’s Rule is imposed
in a State. 1×2=2

Eogr H$moB© Xmo n[apñW{V¶m± COmJa H$s{OE {OZHo$ AÝVJ©V {H$gr amÁ¶ ‘| amï´>n{V emgZ bmJy {H$¶m Om
gH$Vm h¡&

Or / AWdm
Highlight any two conditions under which the National Emergency can be
proclaimed in India.

Eogr {H$Ýht Xmo n[apñW{V¶m| H$mo COmJa H$s{OE {OZHo$ AÝVJ©V ^maV ‘| amï´>r¶ AmnmVH$mb Kmo{fV {H$¶m
Om gH$Vm h¡&

41. Explain the relationship between the Fundamental Rights and the
Directive Principles of State Policy. 2

‘m¡{bH$ A{YH$mam| Ed§ amÁ¶ Ho$ Zr{V {ZXoeH$ {gÕmÝVm| Ho$ ~rM gå~ÝY H$s ì¶m»¶m H$s{OE&

Or / AWdm
State any two Directive Principles which have been implemented by the
Government of India.

Eoogo {H$Ýht Xmo Zr{V {ZXoeH$ {gÕmÝVm| H$m C„oI H$s{OE {OÝh| ^maV gaH$ma Ûmam bmJy {H$¶m Om
MwH$m h¡&

42. Explain any two functions of the Zila Parishad. 1×2=2

{Obm n[afX² Ho$ {H$Ýht Xmo H$m¶m] H$s ì¶m»¶m H$s{OE&

43. Explain the meaning of ‘revolution’ according to Marxism. 2

‘m³g©dmX Ho$ AZwgma "H«$mpÝV' eãX H$m AW© ñnï> H$s{OE&

Or / AWdm
Explain the concept of ‘Limited State’ as advocated by liberalism.

CXmadmX Ûmam àMm[aV "gr{‘V amÁ¶' H$m {gÕmÝV ñnï> H$s{OE&

44. Analyze any two features of good governance. 1×2=2

gwemgZ (AÀN>o emgZ) H$s {H$Ýht Xmo {deofVmAm| H$m {díbofU H$s{OE&

45. Analyze any one recommendation of the Sarkaria Commission on the
Centre-State relations. 2

Ho$ÝÐ-amÁ¶ Ho$ gå~ÝYm| Ho$ ~mao ‘| gaH$m[a¶m Am¶moJ H$s {H$gr EH$ {g’$m[ae H$m {díbofU H$s{OE&

Or / AWdm
Highlight any two financial relations between the Union and the States.

Ho$ÝÐ Am¡a amÁ¶ Ho$ ~rM {H$Ýht Xmo {dÎmr¶ gå~ÝYm| H$mo COmJa H$s{OE&
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Optional Module–7A

d¡H$pënH$ ‘m°S²>¶yb>–7A

46. Describe any two peacekeeping activities of the United Nations. 1×2=2

g§¶wº$ amï´> H$s empÝV ~hmbr H$s {H$Ýht Xmo J{V{d{Y¶m| H$m dU©Z H$s{OE&

Optional Module–7B

d¡H$pënH$ ‘m°S²>¶yb>–7B

46. Describe any two features of bureaucracy. 1×2=2

Zm¡H$aemhr H$s {H$Ýht Xmo {deofVmAm| H$m dU©Z H$s{OE&

47. Describe any three functions of the Election Commission of India. 1×3=3

^maV Ho$ MwZmd Am¶moJ Ho$ {H$Ýht VrZ H$m¶m] H$m dU©Z H$s{OE&

Or / AWdm

Name any three pressure groups linked to trade unions.

Q´>oS> ¶y{Z¶Zm| go Ow‹S>o {H$Ýht VrZ X~md g‘yhm| Ho$ Zm‘ {b{IE&

48. Explain any three differences between State and Government. 1×3=3

amÁ¶ Am¡a gaH$ma Ho$ ~rM {H$Ýht VrZ AÝVam| H$s ì¶m»¶m H$s{OE&

Or / AWdm

Explain any three differences between State and Nation.

amÁ¶ Am¡a amï´> Ho$ ~rM H$moB© VrZ AÝVa ñnï> H$s{OE&

49. Explain the relevance of Marxism. 3

‘m³g©dmX H$s àmg§{JH$Vm H$s ì¶m»¶m H$s{OE&

Or / AWdm

Explain any two weaknesses of liberalism.

CXmadmX H$s {H$Ýht Xmo H${‘¶m| H$mo ñnï> H$s{OE&

50. Explain any three causes for the growth of regionalism. 1×3=3

joÌdmX H$s d¥{Õ Ho$ {H$Ýht VrZ H$maUm| H$mo ñnï> H$s{OE&



51. Analyze the importance of ‘Model Code of Conduct’. 3

"AmXe© AmMma g§{hVm' Ho$ ‘hÎd H$m {díbofU H$s{OE&

Optional Module–7A

d¡H$pënH$ ‘m°S²>¶yb>–7A

52. Highlight any three disarmament activities of the United Nations. 1×3=3

g§¶wº$ amï´> Ho$ {ZaórH$aU H$s {H$Ýht VrZ J{V{d{Y¶m| H$mo COmJa H$s{OE&

Optional Module–7B

d¡H$pënH$ ‘m°S²>¶yb>–7B

52. Highlight any three sources of stress between bureaucracy and political
leadership. 1×3=3

Zm¡H$aemhr Am¡a amOZr{VH$ ZoV¥Ëd Ho$ ~rM VZmd Ho$ {H$Ýht VrZ òmoVm| H$mo COmJa H$s{OE&

53. Explain any five functions of the Criminal Courts. 1×5=5

Amnam{YH$ Ý¶m¶mb¶m| Ho$ {H$Ýht nm±M H$m¶m] H$mo ñnï> H$s{OE&

Or / AWdm
Explain any five sources of income of the Urban Local Bodies.

ehar ñWmZr¶ {ZH$m¶m| H$s Am¶ Ho$ {H$Ýht nm±M òmoVm| H$mo ñnï> H$s{OE&

54. Describe any five objectives of India’s National Environmental Policy. 1×5=5

^maVr¶ amï´>r¶ n¶m©daUr¶ Zr{V Ho$ {H$Ýht nm±M CÔoí¶m| H$m dU©Z H$s{OE&


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gm‘mÝ¶ AZwXoe …

1. narjmWu àíZ-nÌ Ho$ nhbo n¥ð> na AnZm AZwH«$‘m§H$ Adí¶ {bI|&

2. H¥$n¶m àíZ-nÌ H$mo Om±M b| {H$ àíZ-nÌ Ho$ Hw$b n¥ð>m| VWm àíZm| H$s CVZr hr g§»¶m h¡ {OVZr àW‘ n¥ð> Ho$ g~go
D$na N>nr h¡& Bg ~mV H$s Om±M ^r H$a b| {H$ àíZ H«${‘H$ ê$n ‘| h¢&

3. CÎma-nwpñVH$m ‘| nhMmZ-{M• ~ZmZo AWdm {Z{X©ï> ñWmZm| Ho$ A{V[aº$ H$ht ̂ r AZwH«$‘m§H$ {bIZo na narjmWu H$mo
A¶mo½¶ R>ham¶m OmEJm&

4. AnZr CÎma-nwpñVH$m na àíZ-nÌ H$m H$moS> Z§0 69/MAY/4, goQ w {bI|&

5. (H$) n«íZ-nÌ Ho$db {hÝXr/A§J«oOr ‘| h¡& {’$a ^r, ¶{X Amn Mmh| Vmo ZrMo Xr JB© {H$gr EH$ ^mfm ‘| CÎma Xo
gH$Vo h¢ …

A§J«oOr, {hÝXr, CXÿ©, n§Om~r, ~§Jbm, V{‘b, ‘b¶mb‘, H$Þ‹S>, VobwJy, ‘amR>r, C{‹S>¶m, JwOamVr, H$m|H$Ur,
‘{Unwar, Ag{‘¶m, Zonmbr, H$í‘rar, g§ñH¥$V Am¡a {gÝYr&

H¥$n¶m CÎma-nwpñVH$m ‘| {XE JE ~m°³g ‘| {bI| {H$ Amn {H$g ^mfm ‘| CÎma {bI aho h¢&

(I) ¶{X Amn {hÝXr Ed§ A§J«oOr Ho$ A{V[aº$ {H$gr AÝ¶ ̂ mfm ‘| CÎma {bIVo h¢, Vmo àíZm| H$mo g‘PZo ‘| hmoZo dmbr
Ìw{Q>¶m|/Jb{V¶m| H$s {Oå‘oXmar Ho$db AmnH$s hmoJr&

6. àíZ-nÌ ‘| {H$gr ^r àH$ma Ho$ g§Xoh AWdm Xþ{dYm H$s pñW{V ‘| A§J«oOr AZwdmX hr ‘mÝ¶ hmoJm&
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POLITICAL SCIENCE

amOZr{V {dkmZ

(317)

Time : 3 Hours ] [ Maximum Marks : 100

g‘¶ … 3 KÊQ>o ] [ nyUmªH$ … 100

Note  : (i) This Question Paper consists of 54 questions in all.

(ii) All questions are compulsory.

(iii) Marks are given against each question.

(iv) Attempt all questions either from Optional Module–7A or Optional
Module–7B in all Sections.

(v) Section–A consists of

(a) Q. Nos. 1 to 20—Multiple Choice-type Questions (MCQs) carrying
1 mark each. Select and write the most appropriate option out of the
four options given in each of these questions.

(b) Q. Nos. 21 to 35—Objective-type Questions carrying 2 marks each
(with 2 sub-parts of 1 mark each). Attempt these questions as per
the instructions given for each of the questions.

(vi) Section–B consists of

(a) Q. Nos. 36 to 46—Very Short Answer-type Questions carrying
2 marks each to be answered in the range of 30 to 50 words.

(b) Q. Nos. 47 to 52—Short Answer-type Questions carrying 3 marks
each to be answered in the range of 50 to 80 words.

(c) Q. Nos. 53 and 54—Long Answer-type Questions carrying 5 marks
each to be answered in the range of 80 to 120 words.

{ZX}e … (i) Bg àíZ-nÌ ‘| Hw$b 54 àíZ h¢&

(ii) g^r àíZ A{Zdm¶© h¢&

(iii) àË¶oH$ àíZ Ho$ A§H$ Cg àíZ Ho$ gm‘Zo {XE JE h¢&

(iv) g^r IÊS>m| ‘| d¡H$pënH$ ‘m°S²>¶yb–7A AWdm d¡H$pënH$ ‘m°S>²¶yb–7B Ho$ g^r àíZm| Ho$ CÎma {b{IE&

(v) IÊS>–H$
(a) àíZ g§»¶m 1 go 20 VH$ ~hþ{dH$ënr¶ àíZ h¢& àË¶oH$ àíZ 1 A§H$ H$m h¡& BZ àíZm| ‘| {XE

JE Mma {dH$ënm| ‘| go g~go Cn¶wº$ {dH$ën H$mo MwZH$a CÎma Ho$ ê$n ‘| {b{IE&

(b) àíZ g§»¶m 21 go 35 VH$ 2 A§H$ dmbo dñVw{Zð> àH$ma Ho$ àíZ h¡§& Eogo àË¶oH$ àíZ
‘| 1 A§H$ Ho$ 2 Cn^mJ h¢& BZ àíZm| Ho$ CÎma {XE JE {ZX}emZwgma {b{IE&
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(vi) IÊS>–I

(a) àíZ g§»¶m 36 go 46 A{V bKyÎmar¶ àH$ma Ho$ àíZ h¢& àË¶oH$ àíZ 2 A§H$ H$m h¡ {OgH$m
CÎma 30 go 50 eãXm| ‘| {bIZm h¡&

(b) àíZ g§»¶m 47 go 52 bKyÎmar¶ àH$ma Ho$ àíZ h¢& àË¶oH$ àíZ 3 A§H$ H$m h¡ {OgH$m CÎma
50 go 80 eãXm| ‘| {bIZm h¡&

(c) àíZ g§»¶m 53 Am¡a 54 XrK©-CÎmar¶ àH$ma Ho$ àíZ h¢& àË¶oH$ àíZ 5> A§H$ H$m h¡ {OgH$m
CÎma 80 go 120 eãXm| ‘| {bIZm h¡&

SECTION–A

IÊS>–H$

1. High Courts work under the superintendence, direction and control of the

(A) President (B) Governors

(C) Supreme Court (D) Law Minister 1

Cƒ Ý¶m¶mb¶ {ZåZ{b{IV ‘| go {H$gH$s/{H$ZH$s XoI-aoI, {ZX}e Am¡a {Z¶§ÌU ‘| H$m¶© H$aVo h¢?

(A) amï>́n{V (B) amÁ¶nmb

(C) gdm}ƒ Ý¶m¶mb¶ (D) H$mZyZ ‘§Ìr

2. A money bill can be introduced in the Lok Sabha with the prior approval
of the

(A) Speaker (B) Prime Minister

(C) President (D) Vice President 1

bmoH$g^m ‘| {dÎm {dYo¶H$ H$mo {H$gH$s AZw‘{V àmá H$aZo Ho$ ~mX àñVwV {H$¶m Om gH$Vm h¡?

(A) ñnrH$a (B) àYmZ‘§Ìr

(C) amï>́n{V (D) Cn-amï´>n{V

(1) Answers of all questions are to be given in the Answer-Book given to you.

g^r àíZm| Ho$ CÎma AmnH$mo Xr JB© CÎma-nwpñVH$m ‘| hr {bI|&
(2) 15 minutes time has been allotted to read this question paper. The question

paper will be distributed at 2:15 p.m. From 2:15 p.m. to 2:30 p.m., the
students will read the question paper only and will not write any answer on
the Answer-Book during this period.

Bg àíZ-nÌ H$mo n‹T>Zo Ho$ {bE 15 {‘ZQ> H$m g‘¶ {X¶m J¶m h¡& àíZ-nÌ H$m {dVaU Xmonha ‘|
2:15 ~Oo {H$¶m OmEJm& Xmonha 2:15 ~Oo go 2:30 ~Oo VH$ N>mÌ Ho$db àíZ-nÌ H$mo n‹T>|Jo Am¡a
Bg Ad{Y Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo&
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3. What can be the maximum number of members of the Lok Sabha? 1

(A) 540 (B) 543

(C) 545 (D) 550

bmoH$g^m Ho$ A{YH$V‘ {H$VZo gXñ¶ hmo gH$Vo h¢?

(A) 540 (B) 543

(C) 545 (D) 550

4. Who among the following presides over the sessions of the Rajya Sabha? 1

(A) The President (B) The Speaker

(C) The Vice President (D) The Leader of the House

amÁ¶g^m H$s ~¡R>H$m| H$s AÜ¶jVm {ZåZ{b{IV ‘| go H$m¡Z H$aVm h¡?

(A) amï>́n{V (B) ñnrH$a

(C) Cn-amï´>n{V (D) amÁ¶g^m H$m ZoVm

5. How many subjects are there in the ‘Concurrent List’ in the Constitution
of India for the division of powers? 1

(A) 97 (B) 47

(C) 66 (D) 75

^maVr¶ g§{dYmZ ‘| e{º$¶m| Ho$ {d^mOZ Ho$ {bE XO© "g‘dVu gyMr' ‘| {H$VZo {df¶m| H$mo em{‘b {H$¶m
J¶m h¡?

(A) 97 (B) 47

(C) 66 (D) 75

6. How many freedoms have been guaranteed by the Indian Constitution
under the Right to Freedom? 1

(A) 5 (B) 6

(C) 7 (D) 8

ñdV§ÌVm Ho$ A{YH$ma Ho$ AÝVJ©V ^maVr¶ g§{dYmZ Zo {H$VZr ñdV§ÌVmAm| H$s Jma§Q>r Xr h¡?

(A) 5 (B) 6

(C) 7 (D) 8
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7. Which Fundamental Right has been removed from the list of Fundamental
Rights by the 44th Constitutional Amendment Act? 1

(A) Right to Education (B) Right to Property

(C) Right to Freedom (D) Right to Freedom of Religion

44d| g§{dYmZ g§emoYZ A{Y{Z¶‘ Ho$ Ûmam {H$g ‘m¡{bH$ A{YH$ma H$mo ‘m¡{bH$ A{YH$mam| H$s gyMr go
hQ>m {X¶m J¶m h¡?

(A) {ejm H$m A{YH$ma (B) gån{Îm H$m A{YH$ma

(C) ñdV§ÌVm H$m A{YH$ma (D) Ym{‘©H$ ñdV§ÌVm H$m A{YH$ma

8. Which one of the following statements is not true about the Government? 1

(A) It is an element of State.

(B) It is responsible for making laws.

(C) It gets its powers from the Constitution.

(D) It is permanent.

{ZåZ{b{IV ‘| go H$m¡Z-gm H$WZ "gaH$ma' Ho$ ~mao ‘| JbV h¡?

(A) ¶h amÁ¶ H$m EH$ VÎd h¡&

(B) ¶h H$mZyZ ~ZmZo Ho$ {bE {µOå‘odma h¡&

(C) BgH$mo g§{dYmZ go e{º$¶m± àmá hmoVr h¢&

(D) ¶h ñWm¶r hmoVr h¡&

9. Who among the following believed that ‘ends and means are the two sides
of the same coin’? 1

(A) Karl Marx (B) Laski

(C) Mahatma Gandhi (D) Machiavelli

{ZåZ{b{IV ‘| go {H$gH$m {dídmg Wm {H$ "gmÜ¶ Am¡a gmYZ EH$ hr {g¸o$ Ho$ Xmo nhby h¢'?

(A) H$mb© ‘m³g© (B) bmñH$s

(C) ‘hmË‘m Jm±Yr (D) ‘¡{H$¶mdobr

10. ‘The theory of class struggle’ is a principle related to

(A) Liberalism (B) Marxism

(C) Gandhism (D) Capitalism 1
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"dJ© g§Kf© H$m {gÕmÝV' {ZåZ{b{IV ‘| go {H$ggo gå~pÝYV h¡?

(A) CXmadmX (B) ‘m³g©dmX

(C) Jm±YrdmX (D) ny±OrdmX

11. Capitalist economy is closely associated with

(A) Marxism (B) Socialism

(C) Communism (D) Liberalism 1

ny±OrdmXr AW©ì¶dñWm {ZåZ{b{IV ‘| go {H$gHo$ gmW {ZH$Q>Vm go Ow‹S>r hþB© h¡?

(A) ‘m³g©dmX (B) g‘mOdmX

(C) gmå¶dmX (D) CXmadmX

12. The armed forces of which country had crossed over to South Korea in
1950 and refused to go back? 1

(A) China (B) Russia

(C) North Korea (D) Japan

{H$g Xoe H$s geó goZm 1950 ‘| X{jU H$mo[a¶m ‘| Kwg JB© Wr Am¡a dmng OmZo go BÝH$ma H$a
{X¶m Wm?

(A) MrZ (B) ê$g

(C) CÎma H$mo[a¶m (D) OmnmZ

13. Which one colony was a victim of apartheid? 1

(A) South Africa (B) China

(C) Myanmar (D) Sri Lanka

H$m¡Z-gm EH$ Cn{Zdoe a§J-^oX H$m {eH$ma Wm?

(A) X{jU A’«$sH$m (B) MrZ

(C) å¶m§‘ma (D) lrb§H$m

14. Which social scientist made a systematic study of bureaucracy? 1

(A) Mahatma Gandhi (B) Karl Marx

(C) Laski (D) Max Weber

H$m¡Z-go g‘mO {dkmZr Zo Zm¡H$aemhr H$m ì¶dpñWV AÜ¶¶Z {H$¶m Wm?

(A) ‘hmË‘m Jm±Yr (B) H$mb© ‘m³g©

(C) bmñH$s (D) ‘¡³g do~a
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15. The President of India places the annual report of the UPSC before

(A) the Parliament (B) the Supreme Court of India

(C) the Planning Commission (D) the Governors of the States 1

^maV H$m amï´>n{V Ho$ÝÐr¶ bmoH$ godm Am¶moJ H$s dm{f©H$ [anmoQ>© {ZåZ{b{IV ‘| go {H$gHo$ g‘j àñVwV
H$aVm h¡?

(A) g§gX (B) ^maV H$m gdm}ƒ Ý¶m¶mb¶

(C) ¶moOZm Am¶moJ (D) amÁ¶m| Ho$ amÁ¶nmb

16. How many National Parks for wildlife conservation are there in India? 1

(A) 130 (B) 95

(C) 80 (D) 75

dÝ¶Ord g§ajU Ho$ {bE ^maV ‘| {H$VZo amï´>r¶ nmH©$ h¢?

(A) 130 (B) 95

(C) 80 (D) 75

17. ‘Sustainable Development’ is more about

(A) development (B) education

(C) agriculture (D) environment 1

"Adbå~Zr¶ {dH$mg' {ZåZ{b{IV ‘| go {H$gHo$ ~mao ‘| à¶moJ {H$¶m OmVm h¡?

(A) {dH$mg (B) {ejm

(C) H¥${f (D) n¶m©daU

18. In which year was the Universal Declaration of Human Rights adopted? 1

(A) 1945 (B) 1947

(C) 1948 (D) 1951

{ZåZ{b{IV ‘| go {H$g df© ‘mZdm{YH$ma H$m gmd©^m¡{‘H$ KmofUm-nÌ AnZm¶m J¶m?

(A) 1945 (B) 1947

(C) 1948 (D) 1951



317/MAY/209C 9 [ P.T.O.

Optional Module–7A

d¡H$pënH$ ‘m°S²>¶yb>–7A

19. Which one of the following is not a feature of good governance? 1

(A) People caring administration

(B) Corruption-free Government

(C) Absolute powers to administrators

(D) Justice to people

{ZåZ{b{IV ‘| go H$m¡Z-gr gwemgZ H$s EH$ {deofVm Zht h¡?

(A) OZ-{hV¡fr àemgZ (B) ^«ï>mMma-‘wº$ gaH$ma

(C) àemgH$m| H$mo Agr{‘V e{º$¶m± XoZm (D) bmoJm| H$mo Ý¶m¶ XoZm

20. Which of the following is a regional party of Haryana? 1

(A) The Telugu Desam

(B) The All Party Hill Leaders Conference

(C) The Shiv Sena

(D) The Indian National Lok Dal

Cg joÌr¶ Xb H$mo Mw{ZE Omo h[a¶mUm go gå~ÝY aIVm h¡&

(A) VobwJy Xoe‘ (B) Am°b nmQ>u {hb brS>g© H$m±’«|$g

(C) {ed goZm (D) B§{S>¶Z ZoeZb bmoH$ Xb

Optional Module–7B

d¡H$pënH$ ‘m°S²>¶yb>–7B

19. In India, which one political party won five general elections in a row? 1

(A) The Bharatiya Janata Party

(B) The Indian National Congress

(C) The National Conference

(D) The DMK

^maV ‘| H$m¡Z-go EH$ amOZr{VH$ Xb Zo bJmVma nm±M ~ma Am‘ MwZmdm| ‘| {dO¶ àmá H$s?

(A) ^maVr¶ OZVm nmQ>u (B) ^maVr¶ amï´>r¶ H$m±J«og

(C) ZoeZb H$m±’«|$g (D) S>r0E‘0Ho$0
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20. An EVM (Electronic Voting Machine) can accommodate a maximum
number of how many candidates? 1

(A) 12 (B) 16

(C) 20 (D) 24

EH$ B©0dr0E‘0 (Bbo³Q´>m°{ZH$ dmoqQ>J ‘erZ) ‘| A{YH$V‘ {H$VZo Cå‘rXdmam| H$mo Xem©¶m Om gH$Vm h¡?
(A) 12 (B) 16

(C) 20 (D) 24

21. Answer the following questions : 1+1=2

(a) Name any one country of the Third World.

(b) Which year is known for the end of the Cold War?

{ZåZ{b{IV àíZm| Ho$ CÎma Xr{OE :

(H$) Vrgar Xþ{Z¶m Ho$ {H$gr EH$ Xoe H$m Zm‘ {b{IE&

(I) erV ¶wÕ H$s g‘m{á {H$g df© ‘| hþB© Wr?

22. Answer the following questions : 1+1=2

(a) In which city did the countries of Asia and Africa hold a Conference
in 1955?

(b) Name the agreement signed between India and China to adhere to the
five principles of bilateral relations.

{ZåZ{b{IV àíZm| Ho$ CÎma Xr{OE :

(H$) 1955 ‘| E{e¶m Am¡a A’«$sH$m Ho$ Xoem| Zo H$m¡Z-go eha ({gQ>r) ‘| gå‘obZ {H$¶m Wm?

(I) ^maV Am¡a MrZ Ho$ ~rM nmañn[aH$ gå~ÝYm| Ho$ nm±M {gÕmÝVm| H$m nmbZ H$aZo gå~ÝYr {H$E JE
g‘Pm¡Vo H$m Zm‘ {b{IE&

From Q. Nos. 23 to 28, fill in the blanks to make the sentence meaningful and
correct :

àíZ g§»¶m 23 go 28 VH$, dm³¶ H$mo AW©nyU© Ed§ ghr ~ZmZo Ho$ {bE [aº$ ñWmZ ^[aE :

23. Good governance is concerned with the formulation of _____ to improve the
_____ of life of the people. 1+1=2

gwemgZ H$m gå~ÝY _____ ~ZmZo go h¡ {Oggo bmoJm| Ho$ OrdZ Ho$ _____ ‘| gwYma bm¶m Om gHo$&

24. Every year the _____ is presented by the _____ Minister in the Lok Sabha.
1+1=2

àË¶oH$ df© _____ bmoH$g^m ‘| _____ ‘§Ìr Ûmam àñVwV {H$¶m OmVm h¡&
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25. The President of India can be _____ from his office through a process called
_____. 1+1=2

^maV Ho$ amï´>n{V H$mo CgHo$ nX go _____ Ho$ Ûmam _____ {H$¶m Om gH$Vm h¡&

26. In the _____ Constitution of India there were _____ Fundamental Rights.
1+1=2

^maV Ho$ _____ g§{dYmZ ‘| _____ ‘m¡{bH$ A{YH$ma Wo&

27. The Directive Principles of State Policy seek to provide equal pay for equal
_____ both to men and _____. 1+1=2

amÁ¶ Ho$ Zr{V {ZXoeH$ {gÕmÝV g‘mZ _____ Ho$ {bE XmoZm| _____ Am¡a nwéf Ho$ {bE g‘mZ doVZ
H$m {ZX}e XoVo h¢&

28. Gandhiji advocated _____ of powers as he considered it the spirit of _____.
1+1=2

Jm±YrOr Zo e{º$¶m| Ho$ _____ H$s dH$mbV H$s ³¶m|{H$ do BgH$mo _____ H$s ^mdZm ‘mZVo Wo&

From Q. Nos. 29 to 31, fill in the blanks to make the sentence meaningful and
correct :

àíZ g§»¶m 29 go 31 VH$, dm³¶ H$mo AW©nyU© Ed§ ghr ~ZmZo Ho$ {bE [aº$ ñWmZ ^[aE :

29. In 1999, Pakistan’s aggression in _____ brought the two countries on the
verge of a _____ confrontation. 1+1=2

1999 ‘| nm{H$ñVmZ Ho$ _____ AmH«$‘U Zo XmoZm| Xoem| H$mo _____ Q>H$amd Ho$ H$Jma na bm I‹S>m {H$¶m&

30. The United Nations, which was established in _____, has been the most
important international _____ since the Second World War. 1+1=2

g§¶wº$ amï´> g§K, {OgH$s ñWmnZm _____ ‘| hþB© Wr, {ÛVr¶ {díd¶wÕ Ho$ ~mX go EH$ ‘hÎdnyU© AÝVam©ï´>r¶
_____ ~Zm hþAm h¡&

31. The head of _____, Dalai Lama fled from China and took shelter in _____
in 1959. 1+1=2

_____ Ho$ ‘w{I¶m XbmB© bm‘m Zo MrZ go ^mJH$a 1959 ‘| _____ ‘| eaU br&

Optional Module–7A

d¡H$pënH$ ‘m°S²>¶yb>–7A

32. Answer the following questions : 1+1=2

(a) How many principal organs does the United Nations have?

(b) Which organ of the United Nations has ceased to play an active role
in the UN system?



317/MAY/209C 12

{ZåZ{b{IV àíZm| Ho$ CÎma Xr{OE :

(H$) g§¶wº$ amï´> g§K Ho$ {H$VZo à‘wI A§J h¢?

(I) g§¶wº$ amï´> g§K Ho$ H$m¡Z-go A§J Ho$ nmg H$aZo Ho$ {bE H$moB© H$m¶© Zht h¡?

33. Fill in the blanks : 1+1=2

The United Nations _____ Council sent mediators in 1950s to solve the
_____ problem but they were not fruitful.

[aº$ ñWmZ ^[aE …

g§¶wº$ amï´> _____ n[afX² Zo 1950 Ho$ XeH$ ‘| _____ g‘ñ¶m hb H$aZo Ho$ {bE ‘Ü¶ñW ^oOo Wo
naÝVw do Ag’$b aho&

34. Fill in the blanks : 1+1=2

The UN Security Council has ten _____ members and five _____ members.

[aº$ ñWmZ ^[aE …

g§¶wº$ amï´> gwajm n[afX² ‘| Xg _____ gXñ¶ h¢ Am¡a nm±M _____ gXñ¶ h¢&

35. Fill in the blanks : 1+1=2

The Cuban Missile Crisis of 1962 is a good example of _____, that helped
avoid a direct conflict between _____ and the United States.

[aº$ ñWmZ ^[aE …

1962 H$m ³¶y~m {‘gmBb g§H$Q> _____ H$m EH$ AÀN>m CXmhaU h¡ {OgZo _____ Am¡a g§¶wº$ amÁ¶
A‘arH$m Ho$ ~rM grYo ¶wÕ H$mo Q>mbZo ‘| ghm¶Vm H$s&

Optional Module–7B

d¡H$pënH$ ‘m°S²>¶yb>–7B

32. Answer the following questions : 1+1=2

(a) What is the main function of the political executive?

(b) What is the main function of the administrative executive?

{ZåZ{b{IV àíZm| Ho$ CÎma Xr{OE :

(H$) amOZr{VH$ H$m¶©nm{bH$m H$m ‘w»¶ H$m¶© ³¶m h¡?

(I) àemg{ZH$ H$m¶©nm{bH$m H$m ‘w»¶ H$m¶© ³¶m h¡?
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33. Fill in the blanks : 1+1=2

The _____ of neutrality insulates the civil service from any _____
interference.

[aº$ ñWmZ ^[aE …

VQ>ñWVm H$m _____ {g{db gd}ÝQ²>g H$mo {H$gr àH$ma Ho$ _____ hñVjon go AbJ H$aVm h¡&

34. Fill in the blanks : 1+1=2

In the Constitution, adequate _____ have been made to ensure _____ of the
Public Service Commissions.

[aº$ ñWmZ ^[aE …

g§{dYmZ ‘| bmoH$ godm Am¶moJ H$s _____ H$mo gw{ZpíMV H$aZo Ho$ {bE n¶m©á _____ {H$E JE h¢&

35. Answer the following questions : 1+1=2

(a) What is the tenure of the Chairman of the Union Public Service
Commission?

(b) Is the Chairman of the UPSC eligible for any future employment under
the Government?

{ZåZ{b{IV àíZm| Ho$ CÎma Xr{OE :

(H$) Ho$ÝÐr¶ bmoH$ godm Am¶moJ Ho$ AÜ¶j H$m H$m¶©H$mb {H$VZo df© H$m h¡?

(I) ³¶m Ho$ÝÐr¶ bmoH$ godm Am¶moJ H$m AÜ¶j gaH$ma Ho$ AÝVJ©V ^{dî¶ ‘| H$ht {Z¶wº$ {H$¶m Om
gH$Vm h¡?

SECTION–B

IÊS>–I

36. Explain the collective responsibility of the Council of Ministers. 2

‘§Ìr n[afX² H$s gm‘y{hH$ {µOå‘odmar (CÎmaXm{¶Ëd) H$s ì¶m»¶m H$s{OE&

Or / AWdm
Explain the importance of ‘No-Confidence Motion’.

"A{dídmg àñVmd' Ho$ ‘hÎd H$mo ñnï> H$s{OE&

37. Analyze any one recommendation of the Sarkaria Commission on the
Centre-State relations. 2

Ho$ÝÐ-amÁ¶ Ho$ gå~ÝYm| Ho$ ~mao ‘| gaH$m[a¶m Am¶moJ H$s {H$gr EH$ {g’$m[ae H$m {díbofU H$s{OE&
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Or / AWdm
Highlight any two financial relations between the Union and the States.

Ho$ÝÐ Am¡a amÁ¶ Ho$ ~rM {H$Ýht Xmo {dÎmr¶ gå~ÝYm| H$mo COmJa H$s{OE&

38. Highlight any two conditions under which the President’s Rule is imposed
in a State. 1×2=2

Eogr H$moB© Xmo n[apñW{V¶m± COmJa H$s{OE {OZHo$ AÝVJ©V {H$gr amÁ¶ ‘| amï´>n{V emgZ bmJy {H$¶m Om
gH$Vm h¡&

Or / AWdm
Highlight any two conditions under which the National Emergency can be
proclaimed in India.

Eogr {H$Ýht Xmo n[apñW{V¶m| H$mo COmJa H$s{OE {OZHo$ AÝVJ©V ^maV ‘| amï´>r¶ AmnmVH$mb Kmo{fV {H$¶m
Om gH$Vm h¡&

39. Explain the supremacy of judiciary as a feature of Indian federalism. 2

^maVr¶ g§KdmX H$s EH$ {deofVm Ho$ ê$n ‘| Ý¶m¶nm{bH$m H$s gdm}ƒVm H$s ì¶m»¶m H$s{OE&

40. Explain the relationship between the Fundamental Rights and the
Directive Principles of State Policy. 2

‘m¡{bH$ A{YH$mam| Ed§ amÁ¶ Ho$ Zr{V {ZXoeH$ {gÕmÝVm| Ho$ ~rM gå~ÝY H$s ì¶m»¶m H$s{OE&

Or / AWdm
State any two Directive Principles which have been implemented by the
Government of India.

Eoogo {H$Ýht Xmo Zr{V {ZXoeH$ {gÕmÝVm| H$m C„oI H$s{OE {OÝh| ^maV gaH$ma Ûmam bmJy {H$¶m Om
MwH$m h¡&

41. Explain the meaning of ‘revolution’ according to Marxism. 2

‘m³g©dmX Ho$ AZwgma "H«$mpÝV' eãX H$m AW© ñnï> H$s{OE&

Or / AWdm
Explain the concept of ‘Limited State’ as advocated by liberalism.

CXmadmX Ûmam àMm[aV "gr{‘V amÁ¶' H$m {gÕmÝV ñnï> H$s{OE&

42. Explain any two features of the 73rd Amendment of the Indian
Constitution. 1×2=2

^maVr¶ g§{dYmZ Ho$ 73d| g§emoYZ H$s {H$Ýht Xmo {deofVmAm| H$s ì¶m»¶m H$s{OE&
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43. Explain any two reasons for the awareness about environmental
protection. 1×2=2

n¶m©daUr¶ ajm Ho$ ~mao ‘| OmJê$H$Vm ’¡$bmZo Ho$ {H$Ýht Xmo H$maUm| H$s ì¶m»¶m H$s{OE&

44. Explain the role of non-governmental organizations to stop violation of
Human Rights. 2

‘mZdm{YH$mam| Ho$ C„§KZ H$mo amoH$Zo ‘| J¡a-gaH$mar ñd¡pÀN>H$ g§ñWmAm| H$s ^y{‘H$m ñnï> H$s{OE&

45. Highlight any two areas of cooperation between India and Sri Lanka. 1×2=2

^maV Am¡a lrb§H$m Ho$ ~rM gh¶moJ Ho$ {H$Ýht Xmo joÌm| H$mo COmJa H$s{OE&

Optional Module–7A

d¡H$pënH$ ‘m°S²>¶yb>–7A

46. Describe any two peacekeeping activities of the United Nations. 1×2=2

g§¶wº$ amï´> H$s empÝV ~hmbr H$s {H$Ýht Xmo J{V{d{Y¶m| H$m dU©Z H$s{OE&

Optional Module–7B

d¡H$pënH$ ‘m°S²>¶yb>–7B

46. Describe any two features of bureaucracy. 1×2=2

Zm¡H$aemhr H$s {H$Ýht Xmo {deofVmAm| H$m dU©Z H$s{OE&

47. Explain any three differences between State and Society. 1×3=3

amÁ¶ Am¡a g‘mO Ho$ ~rM H$moB© VrZ AÝVa ñnï> H$s{OE&

Or / AWdm
Explain any three differences between State and other associations.

amÁ¶ Am¡a AÝ¶ g§JR>Zm| Ho$ ~rM H$moB© VrZ AÝVa ñnï> H$s{OE&

48. Describe any three functions of the Election Commission of India. 1×3=3

^maV Ho$ MwZmd Am¶moJ Ho$ {H$Ýht VrZ H$m¶m] H$m dU©Z H$s{OE&

Or / AWdm
Name any three pressure groups linked to trade unions.

Q´>oS> ¶y{Z¶Zm| go Ow‹S>o {H$Ýht VrZ X~md g‘yhm| Ho$ Zm‘ {b{IE&

49. Explain the relevance of Marxism. 3

‘m³g©dmX H$s àmg§{JH$Vm H$s ì¶m»¶m H$s{OE&



Or / AWdm
Explain any two weaknesses of liberalism.

CXmadmX H$s {H$Ýht Xmo H${‘¶m| H$mo ñnï> H$s{OE&

50. Explain any three measures for correcting regional imbalances. 1×3=3

joÌr¶ Ag‘mZVmAm| H$mo R>rH$ H$aZo Ho$ {bE H$moB© VrZ Cnm¶ ñnï> H$s{OE&

51. Analyze the role of Indian National Congress in Indian politics. 3

^maVr¶ amOZr{V ‘| ^maVr¶ amï´>r¶ H$m±J«og H$s ^y{‘H$m H$m {díbofU H$s{OE&

Optional Module–7A

d¡H$pënH$ ‘m°S²>¶yb>–7A

52. Highlight any three main activities of the United Nations. 1×3=3

g§¶wº$ amï´> H$s {H$Ýht VrZ à‘wI J{V{d{Y¶m| H$mo COmJa H$s{OE&

Optional Module–7B

d¡H$pënH$ ‘m°S²>¶yb>–7B

52. Highlight any two weaknesses of the committed bureaucracy. 1½×2=3

à{V~Õ Zm¡H$aemhr H$s {H$Ýht Xmo H${‘¶m| H$mo COmJa H$s{OE&

53. Explain the qualifications, tenure and process of removal of the Judges of
a High Court. 2+1+2=5

Cƒ Ý¶m¶mb¶ Ho$ Ý¶m¶mYrem| Ho$ {bE Amdí¶H$ ¶mo½¶VmE±, H$m¶©H$mb Am¡a hQ>mE OmZo H$s à{H«$¶m H$s
ì¶m»¶m H$s{OE&

Or / AWdm
Explain any five reforms introduced by the 74th Constitutional
Amendment. 1×5=5

74d| g§{dYmZ g§emoYZ Ûmam bmJy {H$E JE {H$Ýht nm±M gwYmam| H$s ì¶m»¶m H$s{OE&

54. Explain any five functions of the computer and information technology as
means of good governance. 1×5=5

AÀN>o emgZ (gwemgZ) Ho$ gmYZ Ho$ ê$n ‘| H$åß¶yQ>a Am¡a gyMZm àm¡Úmo{JH$s Ho$ {H$Ýht nm±M H$m¶m] H$s
ì¶m»¶m H$s{OE&


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